

2019 Washington Street, East Charleston, WV 25305 Telephone: 304-558-2306 General Fax: 304-558-6026

Bid Fax: 304-558-3970

The following documentation is an electronically-submitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.





Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

# State of West Virginia Solicitation Response

Proc Folder: 1664613

Solicitation Description: AML - Limestone Sand

Proc Type: Central Master Agreement

 Solicitation Closes
 Solicitation Response
 Version

 2025-08-14 13:30
 SR 0313 ESR08132500000000916
 1

**VENDOR** 

000000208466

SHRIVER TRUCKING CO INC

Solicitation Number: CRFQ 0313 DEP2600000001

**Total Bid:** 56425 **Response Date:** 2025-08-13 **Response Time:** 09:11:34

Comments:

FOR INFORMATION CONTACT THE BUYER

Joseph (Josh) E Hager III (304) 558-2306 joseph.e.hageriii@wv.gov

Vendor Signature X

FEIN# DATE

All offers subject to all terms and conditions contained in this solicitation

Date Printed: Aug 14, 2025 Page: 1 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	1.0 Barbour County - Limestone Sand	25.00000	TON	69.000000	1725.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

### **Extended Description:**

1.0 Barbour County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	2.0 Boone County - Limestone Sand	25.00000	TON	86.000000	2150.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

### **Commodity Line Comments:**

### **Extended Description:**

2.0 Boone County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	3.0 Brooke County - Limestone Sand	25.00000	TON	97.000000	2425.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

## **Extended Description:**

3.0 Brooke County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	4.0 Clay County - Limestone Sand	25.00000	TON	74.000000	1850.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

## **Extended Description:**

4.0 Clay County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	5.0 Fayette County - Limestone Sand	25.00000	TON	84.000000	2100.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

### **Extended Description:**

5.0 Fayette County - Limestone Sand

Date Printed: Aug 14, 2025 Page: 2 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	6.0 Gilmer County - Limestone Sand	25.00000	TON	84.000000	2100.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

### **Extended Description:**

6.0 Gilmer County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
7	7.0 Hancock County - Limestone Sand	25.00000	TON	98.000000	2450.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

### **Commodity Line Comments:**

### **Extended Description:**

7.0 Hancock County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
8	8.0 Kanawha County - Limestone Sand	25.00000	TON	79.000000	1975.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

## **Extended Description:**

8.0 Kanawha County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
9	9.0 Lewis County - Limestone Sand	25.00000	TON	77.000000	1925.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

## **Extended Description:**

9.0 Lewis County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
10	10.0 Logan County - Limestone Sand	25.00000	TON	89.000000	2225.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

### **Extended Description:**

10.0 Logan County - Limestone Sand

Date Printed: Aug 14, 2025 Page: 3 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
11	11.0 Marshall County - Limestone Sand	25.00000	TON	96.000000	2400.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

### **Extended Description:**

11.0 Marshall County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	<b>Ln Total Or Contract Amount</b>
12	12.0 Mason County - Limestone Sand	25.00000	TON	82.000000	2050.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

### **Commodity Line Comments:**

### **Extended Description:**

12.0 Mason County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
13	13.0 McDowell County - Limestone Sand	25.00000	TON	107.000000	2675.00

Comm Code	Manufacturer	Specification	Model #	
11111608				·

# **Commodity Line Comments:**

## **Extended Description:**

13.0 McDowell County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
14	14.0 Mercer County - Limestone Sand	25.00000	TON	120.000000	3000.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

## **Extended Description:**

14.0 Mercer County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
15	15.0 Mineral County - Limestone Sand	25.00000	TON	119.000000	2975.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

### **Extended Description:**

15.0 Mineral County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
16	16.0 Mingo County - Limestone Sand	25.00000	TON	133.000000	3325.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

### **Extended Description:**

16.0 Mingo County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
17	17.0 Monongalia County - Limestone Sand	25.00000	TON	66.000000	1650.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

### **Commodity Line Comments:**

### **Extended Description:**

17.0 Monongalia County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
18	18.0 Nicholas County - Limestone Sand	25.00000	TON	69.000000	1725.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

## **Extended Description:**

18.0 Nicholas County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
19	19.0 Ohio County - Limestone Sand	25.00000	TON	78.000000	1950.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

## **Extended Description:**

119.0 Ohio County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
20	20.0 Pendleton County - Limestone Sand	25.00000	TON	78.000000	1950.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

### **Extended Description:**

20.0 Pendleton County - Limestone Sand

Date Printed: Aug 14, 2025 Page: 5 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
21	21.0 Pocahontas County - Limestone Sand	25.00000	TON	84.000000	2100.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

### **Extended Description:**

21.0 Pocahontas County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
22	22.0 Preston County - Limestone Sand	25.00000	TON	85.000000	2125.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

### **Commodity Line Comments:**

### **Extended Description:**

22.0 Preston County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
23	23.0 Putnam County - Limestone Sand	25.00000	TON	89.000000	2225.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

## **Extended Description:**

23.0 Putnam County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
24	24.0 Raleigh County - Limestone Sand	25.00000	TON	80.000000	2000.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

## **Extended Description:**

24.0 Raleigh County - Limestone Sand

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
25	25.0 Webster County - Limestone Sand	25.00000	TON	54.000000	1350.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Commodity Line Comments:**

### **Extended Description:**

25.0 Webster County - Limestone Sand

 Date Printed:
 Aug 14, 2025
 Page: 6
 FORM ID: WV-PRC-SR-001 2020/05

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
26	26.0 Wyoming County - Limestone Sand	25.00000	TON	80.00000	2000.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Extended Description:**

26.0 Wyoming County - Limestone Sand

Date Printed: Aug 14, 2025 Page: 7 FORM ID: WV-PRC-SR-001 2020/05

**RJEFFRIES** 



# CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 7/30/2025

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the contificate holder is an ADDITIONAL INCLIDED the nation/(see) must have ADDITIONAL INCLIDED are visiting as the analysis

lf	SUBROGATION IS WAIVED, subjectificate holders  if SUBROGATION IS WAIVED, subjectificate does not confer rights to	ct to	the	terms and conditions of	the policy, certain uch endorsement(s	policies may			
	DDUCER				CONTACT NAME:	**			
400	. Garton Insurance Agency, Inc. U.S. Highway 33 East				PHONE (A/C, No, Ext): (304) E-MAIL	269-3095	FAX (A/C, No):		
vves	ston, W <b>V</b> 26452				E-MAIL ADDRESS:				T
						- W. W	RDING COVERAGE		NAIC#
					INSURER A : Erie In		mpany		26263
INSU	URED				INSURER B : Progre				42994
	Shriver Trucking Company PO Box 1171	Inc.			INSURER C : Erie In	s Property &	& Casualty		26830
	Weston, WV 26452				INSURER D :	11132-1123-1133-1133			
	, , , , , , , , , , , , , , , , , , , ,				INSURER E :				
					INSURER F:				
-				NUMBER:			REVISION NUMBER:		
C	HIS IS TO CERTIFY THAT THE POLICI NDICATED. NOTWITHSTANDING ANY F CERTIFICATE MAY BE ISSUED OR MAY XCLUSIONS AND CONDITIONS OF SUCH	PER POLI	IREMI TAIN, CIES.	ENT, TERM OR CONDITIO THE INSURANCE AFFOR LIMITS SHOWN MAY HAVE	N OF ANY CONTRA	CT OR OTHER	R DOCUMENT WITH RESPE SED HEREIN IS SUBJECT TO	CT TO	WHICH THIS
INSR LTR	TYPE OF INSURANCE	ADDL INSD	SUBR	POLICY NUMBER	POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)	LIMITS	3	
Α	X COMMERCIAL GENERAL LIABILITY						EACH OCCURRENCE	\$	1,000,000
	CLAIMS-MADE X OCCUR	Х		Q61-0479185	12/12/2024	12/12/2025	DAMAGE TO RENTED PREMISES (Ea occurrence)	\$	1,000,000
							MED EXP (Any one person)	\$	10,000
							PERSONAL & ADV INJURY	\$	1,000,000
	GEN'L AGGREGATE LIMIT APPLIES PER:						GENERAL AGGREGATE	\$	2,000,000
	POLICY PRO- LOC						PRODUCTS - COMP/OP AGG	\$	2,000,000
	OTHER:							\$	
В	AUTOMOBILE LIABILITY			5 (5) (5) (5) (5) (5) (5) (5) (5) (5) (5			COMBINED SINGLE LIMIT (Ea accident)	\$	2,000,000
	ANY AUTO	X		990398056	12/10/2024	12/10/2025	BODILY INJURY (Per person)	\$	
	OWNED SCHEDULED AUTOS						BODILY INJURY (Per accident)	\$	
	HIRED NON-OWNED AUTOS ONLY						PROPERTY DAMAGE (Per accident)	\$	
								\$	1 000 000
С	X UMBRELLA LIAB OCCUR				40/40/0004	40/40/0005	EACH OCCURRENCE	\$	1,000,000
	EXCESS LIAB CLAIMS-MADE	X		Q36-6270025	12/12/2024	12/12/2025	AGGREGATE	\$	
	DED RETENTION \$	-				ļ	PER OTH-	\$	
	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY Y/N						PER OTH- STATUTE ER		
	ANY PROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED? (Mandatory in NH)	N/A					E.L. EACH ACCIDENT	\$	
	(Mandatory in NH)  If yes, describe under						E.L. DISEASE - EA EMPLOYEE		
	DESCRIPTION OF OPERATIONS below	-					E.L. DISEASE - POLICY LIMIT	\$	
		1				L			
DES	SCRIPTION OF OPERATIONS / LOCATIONS / VEHIC	LES (	ACORI	0 101, Additional Remarks Sched	ule, may be attached if mo	ore space is requi	red)		
					CANCELLATION	r			
CE	RTIFICATE HOLDER				CANCELLATION				
	STATE OF WV 1900 KANAWHA BLVD EAS	т			SHOULD ANY OF THE EXPIRATION ACCORDANCE V	ON DATE TH	DESCRIBED POLICIES BE CA HEREOF, NOTICE WILL I CY PROVISIONS.	ANCEL BE DI	LED BEFORE
	BUILDING 5 Charleston, WV 25305			•	AUTHORIZED REPRES	ENTATIVE			
	Onanioston, ** * 2000				Otto Cum	H C			
	Ÿ.				water m	The			



# CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 07/30/2025

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL iNSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed.

	SUBROGATION IS WAIVED, subject to is certificate does not confer rights to					-	may require	an endorsement. A stater	ment o	n
	DUCER	ine c	erun	ate noider in neu or such	CONTAC		Hartline			
	green Insurance				NAME: PHONE	(914) 47		FAX	/81 <i>1</i> \ <i>A</i>	72-7020
	South Center St, Ste 2 & 3				(A/C, No	, EXT): '	evergreeninsu	[AC, NO).	(014) 4	72-1020
	Box 505				ADDRE	33.		AND THE RESERVE OF THE PARTY OF	—т	
	nsburg			PA 15931		Dealares	SURER(S) AFFOR od Casualty Ins	DING COVERAGE		NAIC # 35505
INSU				FA 15951	INSURE	NA.	od Casualty IIIs			33303
INSUI	Shriver Trucking Company Inc				INSURE					
	PO Box 1171				INSURE				-+	
	PO BOX 1171				INSURE	NAME OF TAXABLE PARTY O		- A CANCELLO AND A CA	_	
	Weston			WV 26452	INSURE					
001		TIFIC	ATE	05/00 1410	INSURE	RF:		DEVISION NUMBER		
17010	YERAGES CER' IS IS TO CERTIFY THAT THE POLICIES OF I	- 60 - 777.09	0.000	NOMBER.	ISSUE	TO THE INSUE		REVISION NUMBER:	מכ	
IN	DICATED. NOTWITHSTANDING ANY REQUI	REME	NT, TE	RM OR CONDITION OF ANY	CONTRA	ACT OR OTHER	R DOCUMENT V	VITH RESPECT TO WHICH TH	IS	
CE	RTIFICATE MAY BE ISSUED OR MAY PERTA	AIN, TH	HE INS	SURANCE AFFORDED BY THE	POLIC	ES DESCRIBE	D HEREIN IS SI			
INSR	CLUSIONS AND CONDITIONS OF SUCH PO				REDUC	POLICY EFF	POLICY EXP			
LTR	TYPE OF INSURANCE	INSD	SUBR WVD	POLICY NUMBER		(MM/DD/YYYY)	(MM/DD/YYYY)	LIMITS		
-	COMMERCIAL GENERAL LIABILITY				ki.			DAMAGE TO RENTED	\$	
	CLAIMS-MADE OCCUR							THEMISES (ES SESSION)	\$	
									\$	
						1			\$	
	GEN'L AGGREGATE LIMIT APPLIES PER:								\$	
	POLICY LIJECT LOC								\$ \$	The state of the s
-	OTHER: AUTOMOBILE LIABILITY							COMBINED SINGLE LIMIT	\$ \$	
								(Ea accident)	\$ \$	
	ANY AUTO OWNED SCHEDULED								s	
	AUTOS ONLY AUTOS NON-OWNED							PROPERTY DAMAGE	\$	
	AUTOS ONLY AUTOS ONLY							(Per accident)	\$ \$	
-	UMBRELLA LIAB OCCUP								\$	
	- FYOESS LIAB - OCCOR							was a second of the second of	\$ \$	
	CEAIWS-WADE								\$ \$	
_	DED RETENTION \$ WORKERS COMPENSATION	-						➤ PER STATUTE OTH-	φ	-,
	AND EMPLOYERS' LIABILITY Y / N							E.L. EACH ACCIDENT	s 1,00	0,000
Α	ANY PROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED?	N/A		WC707923		07/24/2025	07/24/2026		s 1,00	
	(Mandatory in NH) If yes, describe under								\$ 1,00	
-	DÉSCRIPTION OF OPERATIONS below							E.L. DISEASE - POLICI LIMIT	Ψ	1000
DESC	CRIPTION OF OPERATIONS / LOCATIONS / VEHICLE	ES (AC	ORD 1	01, Additional Remarks Schedule.	may be a	ttached if more s	pace is required)	<u> </u>		
	ohen Shriver II is Excluded									
Olop	Mon chimor in to Exceeded									
	TITIOATE LIQUED				CANO	ELLATION				
CER	RTIFICATE HOLDER				CAN	LLLATION				
								SCRIBED POLICIES BE CANO		BEFORE
								F, NOTICE WILL BE DELIVERE Y PROVISIONS.	ED IN	
	State of WV				ACC	CRUMINUE WI	III IIIL FOLIO	. I o violono.		
	1900 Kanawha Blvd				AUTHO	RIZED REPRESE	NTATIVE			
	East Building 5			INVESTIGATION AND AND AND AND AND AND AND AND AND AN				H. +1= 0		
	Charleston			WV 25306	1		lumber	y Herstein		

# (Rev. October 2018) Department of the Treasury Internal Revenue Service

# **Request for Taxpayer Identification Number and Certification**

► Go to www.irs.gov/FormW9 for instructions and the latest information.

Give Form to the requester. Do not send to the IRS.

		me (as snown o	n your income t			quired on	this line;	; do not	t leave	this line	e blank.											
		siness name/dis				n above																
Print or type. See Specific Instructions on page 3.																						
Par			er(s) here (optio		umber	(TIN)								170-1200 AMERICA								
		TN in the app	ropriate box.	The TIN pr	ovided m	ust mate							Sc	ocial s	secur	ity ni	umb	er			,	
reside entitie	ent alie es, it is	nholding. For i en, sole propri your employe	etor, or disreg	arded enti	ity, see th	ie instru	ctions f	for Pari	t I, late	er. For	other					-			-			
TIN, la							. "	- d Al-		- 1 <i>41</i> 6	Mana	and	Or Fr	nniov	er ide	hito	catio	on nu	nher			
		account is in Give the Requ						e 1. Als	so see	e vvnat	Name	anu		T	1 [	T	1	T	T	T	H	
			rector for gan		1717000 110		, 0,,,,,,,,				100.000		5	5	-	0	7	3	3	4	8	-
Par	t II	Certific	ation										·									
		lities of perjury								W.								25 70				
2. i ar Se	n not s rvice (I	ber shown on subject to bac IRS) that I am r subject to ba	kup withhold subject to ba	ing becaus ckup withh	ear (a) I an	n evemr	nt from	hacku	n with	nholding	a. or (b	o) I ha	ve not	beer	not	tied	by t	ne in	emai	Rev ne th	enue nat I	am
		S. citizen or o	and the second s	The second secon																		
4. The	e FATO	CA code(s) en	tered on this	form (if any	y) indicati	ng that I	am exe	empt fi	rom F	ATCA	reporti	ng is	correc	t.						322	9	
you h	ave fail	n instructions led to report a or abandonme nterest and div	I interest and	dividends o	on your tax	x return.	For real	l estate	trans	actions	s, nem : lual reti	z ace ireme	is not a nt arrar	ppiy.	ent (	RA).	gaye	gene	rally,	uu, oaym	ents	use
Sigr		Signature of U.S. person ▶	An	- 52			2 =	1				Date	<b>&gt;</b> [	13	31	2	0	25				
Ge	ner	al Instr			~				• Form	n 1099	-DIV (d	divide	nds, in	cludi	ng th	ose	fror	n sto	cks o	mut	ual	

Section references are to the Internal Revenue Code unless otherwise noted.

Future developments. For the latest information about developments related to Form W-9 and its instructions, such as legislation enacted after they were published, go to www.irs.gov/FormW9.

## Purpose of Form

An individual or entity (Form W-9 requester) who is required to file an information return with the IRS must obtain your correct taxpayer identification number (TIN) which may be your social security number (SSN), individual taxpayer identification number (ITIN), adoption taxpayer identification number (ATIN), or employer identification number (EIN), to report on an information return the amount paid to you, or other amount reportable on an information return. Examples of information returns include, but are not limited to, the following.

Form 1099-INT (interest earned or paid)

- Form 1099-MISC (various types of income, prizes, awards, or gross proceeds)
- Form 1099-B (stock or mutual fund sales and certain other transactions by brokers)
- Form 1099-S (proceeds from real estate transactions)
- Form 1099-K (merchant card and third party network transactions)
- Form 1098 (home mortgage interest), 1098-E (student loan interest), 1098-T (tuition)
- Form 1099-C (canceled debt)
- Form 1099-A (acquisition or abandonment of secured property)

Use Form W-9 only if you are a U.S. person (including a resident alien), to provide your correct TIN.

If you do not return Form W-9 to the requester with a TIN, you might be subject to backup withholding. See What is backup withholding, later.

# WEST VIRGINIA STATE TAX DEPARTMENT BUSINESS REGISTRATION CERTIFICATE

ISSUED TO:
SHRIVER TRUCKING COMPANY INC
686 US HIGHWAY 33 W
WESTON, WV 26452-7311

BUSINESS REGISTRATION ACCOUNT NUMBER:

1043-2113

This certificate is issued on:

08/20/2014

This certificate is issued by the West Virginia State Tax Commissioner in accordance with Chapter 11, Article 12, of the West Virginia Code

The person or organization identified on this certificate is registered to conduct business in the State of West Virginia at the location above.

This certificate is not transferrable and must be displayed at the location for which issued. This certificate shall be permanent until cessation of the business for which the certificate of registration was granted or until it is suspended, revoked or cancelled by the Tax Commissioner.

Change in name or change of location shall be considered a cessation of the business and a new certificate shall be required.

TRAVELING/STREET VENDORS: Must carry a copy of this certificate in every vehicle operated by them. CONTRACTORS, DRILLING OPERATORS, TIMBER/LOGGING OPERATIONS: Must have a copy of this certificate displayed at every job site within West Virginia.

atL006 v.4 L1318283840

# SOLICITATION NUMBER: CRFQ 0313 DEP2600000001 Addendum Number: No.01

The purpose of this addendum is to modify the solicitation identified as ("Solicitation") to reflect the change(s) identified and described below.

# **Applicable Addendum Category:**

<b>\</b>		Modify bid opening date and time
[	I	Modify specifications of product or service being sought
[ 🗸	1	Attachment of vendor questions and responses
[	l	Attachment of pre-bid sign-in sheet
[	1	Correction of error
ſ	I	Other

# **Description of Modification to Solicitation:**

Addendum issued to publish and distribute the attached documentation to the vendor community.

- 1. To publish agency responses to all vendor submitted questions
- 2. To extend bid close date until 8/14/2025 @ 1:30 PM ET.

Additional Documentation: Documentation related to this Addendum (if any) has been included herewith as Attachment A and is specifically incorporated herein by reference.

### **Terms and Conditions:**

- 1. All provisions of the Solicitation and other addenda not modified herein shall remain in full force and effect.
- 2. Vendor should acknowledge receipt of all addenda issued for this Solicitation by completing an Addendum Acknowledgment, a copy of which is included herewith. Failure to acknowledge addenda may result in bid disqualification. The addendum acknowledgement should be submitted with the bid to expedite document processing.

# ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.: CRFQ DEP26\*01

**Instructions:** Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

**Acknowledgment:** I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendu	m N	Numbers Received:			
Check th	e bo	x next to each addendum rec	eive	(h	
]	<b>√</b> ]	Addendum No. 1	[	]	Addendum No. 6
[	]	Addendum No. 2	[	]	Addendum No. 7
1	]	Addendum No. 3	[	]	Addendum No. 8
]	]	Addendum No. 4	[	]	Addendum No. 9
1	1	Addendum No. 5	[	]	Addendum No. 10

I understand that failure to confirm the receipt of addenda may be cause for rejection of this bid. I further understand that any verbal representation made or assumed to be made during any oral discussion held between Vendor's representatives and any state personnel is not binding. Only the information issued in writing and added to the specifications by an official addendum is binding.

Shriver Trucking CO, Inc
Company
Authorized Signature
8 6 2025
Date

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing. Revised 6/8/2012



Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

## State of West Virginia **Centralized Request for Quote** Service - Prof

Proc Folder: 1664613 Reason for Modification: Doc Description: AML - Limestone Sand Addendum #1 issued to publish agency responses to all vendor submitted questions and extend the bid ..... See Page 2 for complete info **Proc Type:** Central Master Agreement Date Issued **Solicitation Closes** Solicitation No Version 2 2025-08-06 2025-08-14 13:30 CRFQ 0313 DEP2600000001

**BID RECEIVING LOCATION** 

**BID CLERK** 

DEPARTMENT OF ADMINISTRATION

PURCHASING DIVISION

2019 WASHINGTON ST E

CHARLESTON

WV 25305

US

**VENDOR** 

Vendor Customer Code: 000000 208466

Vendor Name: Shriver Trucking Co., Inc

Address:

PO BOX 1171

Street:

City:

Weston

State:

Country: USA

zip: 21,452

Principal Contact: SteVe Shriver

Vendor Contact Phone: 304-546-4385

Extension:

FOR INFORMATION CONTACT THE BUYER

Joseph (Josh) E Hager III

(304) 558-2306

joseph.e.hageriii@wv.gov

Vendor

Signature X

DATE 8/11/2025

All offers subject to all terms and conditions contained in this solicitation

FORM ID: WV-PRC-CRFQ-002 2020/05

# ADDITIONAL INFORMATION

: The West Virginia Purchasing Division is soliciting bids on behalf of West Virginia Department of Environmental Protection, Office of Abandoned Mine Lands (WVDEP/AML) to establish an open-end contract for high calcium content Limestone Sand per the attached specifications and terms and conditions.

INVOICE TO		SHIP TO	SHIP TO						
ENVIRONMENTAL PROTECTION		STATE OF WEST VIR	RGINIA						
OFFICE OF AML&R		VARIOUS LOCATION INDICATED BY ORD							
601 57TH ST SE									
CHARLESTON	WV	No City	WV						
US		US		2					

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
1	1.0 Barbour County - Limestone Sand	25.00000	TON	\$69.00	\$1725.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Extended Description:**

1.0 Barbour County - Limestone Sand

INVOICE TO		SHIP TO		Jet 1
ENVIRONMENTAL PROTECTION OFFICE OF AML&R		VARIOUS LOCATIO	STATE OF WEST VIRGINIA  VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
2	2.0 Boone County - Limestone Sand	25.00000	TON	\$86.00	\$2150.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Extended Description:**

2.0 Boone County - Limestone Sand

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST V	/IRGINIA	
OFFICE OF AML&R	z	VARIOUS LOCATION INDICATED BY OR		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	<b>Total Price</b>
3	3.0 Brooke County - Limestone Sand	25.00000	TON	\$97.00	\$2425.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

3.0 Brooke County - Limestone Sand

INVOICE TO		SHIP TO	SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VI	RGINIA	
OFFICE OF AML&R		VARIOUS LOCATION INDICATED BY ORD		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
4	4.0 Clay County - Limestone Sand	25.00000	TON	\$74.00	\$1850.00
ì		i i	•		

Comm Code	Manufacturer	Specification	Model #	
11111608				

Page: 3

# **Extended Description:**

4.0 Clay County - Limestone Sand

FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST V	IRGINIA	
OFFICE OF AML&R	z .	VARIOUS LOCATION INDICATED BY OR		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
5	5.0 Fayette County - Limestone Sand	25.00000	TON	\$84.00	\$2100.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

5.0 Fayette County - Limestone Sand

INVOICE TO		SHIP TO	SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST V	IRGINIA	The second secon
OFFICE OF AML&R			VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
6	6.0 Gilmer County - Limestone Sand	25.00000	TON	\$84.00	\$2100.00

Manufacturer	Specification	Model #	
	Manufacturer	Manufacturer Specification	Manufacturer Specification Model #

# **Extended Description:**

6.0 Gilmer County - Limestone Sand

INVOICE TO		SHIP TO	SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VI	RGINIA	
OFFICE OF AML&R	FFICE OF AML&R VARIOUS LOCATIONS AS INDICATED BY ORDER			
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
7	7.0 Hancock County - Limestone Sand	25.00000	TON	\$98.00	\$2450.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

7.0 Hancock County - Limestone Sand

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION	The second secon	STATE OF WEST VIF	RGINIA	
OFFICE OF AML&R			VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
8	8.0 Kanawha County - Limestone Sand	25.00000	TON	\$79.00	\$1975.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

Page: 5

# **Extended Description:**

8.0 Kanawha County - Limestone Sand

FORM ID: WV-PRC-CRFQ-002 2020/05

INVOIGE 10 Olin 10 **ENVIRONMENTAL** STATE OF WEST VIRGINIA

PROTECTION

OFFICE OF AML&R

VARIOUS LOCATIONS AS

INDICATED BY ORDER

601 57TH ST SE

CHARLESTON US

WV

No City

US

WV

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
9	9.0 Lewis County - Limestone Sand	25.00000	TON	\$77.00	\$1925.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Extended Description:**

9.0 Lewis County - Limestone Sand

INVOICE TO		SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA	
OFFICE OF AML&R		VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE			
CHARLESTON	WV	No City	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
10	10.0 Logan County - Limestone Sand	25.00000	TON	\$89.00	\$2225.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Extended Description:**

10.0 Logan County - Limestone Sand

FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO	SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST V	'IRGINIA		
OFFICE OF AML&R	¥	VARIOUS LOCATION INDICATED BY OR			
601 57TH ST SE					
CHARLESTON	WV	No City	WV		
US		US			

	Qty	Unit Issue	Unit Price	Total Price
estone Sand	25.00000	TON	\$96.00	\$2400.00
	estone Sand			1 0 1 05 00000 TOM

Comm Code	Manufacturer	Specification	Model #	
11111608				

11.0 Marshall County - Limestone Sand

INVOICE TO		SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA	
OFFICE OF AML&R		VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE			
CHARLESTON	WV	No City	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
12	12.0 Mason County - Limestone Sand	25.00000	TON	\$82.00	\$2050.00
				(19 <b>1</b> 00) (2000) (0.00 (100) (100)	

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Extended Description:**

12.0 Mason County - Limestone Sand

Date Printed: Jul 22, 2025 Page: 7 FORM ID: WV-PRC-CRFQ-002 2020/05

ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA	
OFFICE OF AML&R	z.	VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE			
CHARLESTON	WV	No City	WV
lue		110	

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	Total Price
13	13.0 McDowell County - Limestone Sand	25.00000	TON	\$107.00	\$2675.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

13.0 McDowell County - Limestone Sand

INVOICE TO		SHIP TO	SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VIR	RGINIA	
OFFICE OF AML&R		VARIOUS LOCATION INDICATED BY ORD		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
14	14.0 Mercer County - Limestone Sand	25.00000	TON	\$120	\$3000.00

Model #	Specification	Manufacturer	Comm Code
			11111608
			11111608

# **Extended Description:**

14.0 Mercer County - Limestone Sand

Date Printed: Jul 22, 2025 Page: 8 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VII	RGINIA	
OFFICE OF AML&R	×	VARIOUS LOCATION INDICATED BY ORD		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
15.0 Mineral County - Limestone Sand	25.00000	TON	\$119.00	\$2975.00
				15.0 Minaral County, Limostona Sand 25.00000 TON

Comm Code	Manufacturer	Specification	Model #	
11111608				

15.0 Mineral County - Limestone Sand

INVOICE TO		SHIP TO		St
ENVIRONMENTAL PROTECTION		STATE OF WEST VIF	RGINIA	
OFFICE OF AML&R			VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US	9	US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
16	16.0 Mingo County - Limestone Sand	25.00000	TON	\$133.00	\$3325.00
				C	

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Extended Description:**

16.0 Mingo County - Limestone Sand

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST \	/IRGINIA	
OFFICE OF AML&R	z	VARIOUS LOCATION INDICATED BY OR		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
17	17.0 Monongalia County - Limestone Sand	25.00000	TON	\$66.00	\$1650.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

17.0 Monongalia County - Limestone Sand

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST V	/IRGINIA	
OFFICE OF AML&R		VARIOUS LOCATION INDICATED BY OR		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	78
US		US	A Karamana and Anna	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
18	18.0 Nicholas County - Limestone Sand	25.00000	TON	\$69.00	\$1725.00
			•		

Comm Code	Manufacturer	Specification	Model #	
11111608				

Page: 10

# **Extended Description:**

18.0 Nicholas County - Limestone Sand

FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST \	/IRGINIA	
OFFICE OF AML&R	z	VARIOUS LOCATION INDICATED BY OR		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	<b>Unit Price</b>	<b>Total Price</b>
19	19.0 Ohio County - Limestone Sand	25.00000	TON	\$78.00	\$1950.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

119.0 Ohio County - Limestone Sand

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VIR	GINIA	
OFFICE OF AML&R		VARIOUS LOCATION: INDICATED BY ORDE		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
20	20.0 Pendleton County - Limestone Sand	25.00000	TON	\$78.00	\$1950.00
			•	10 Mary 1 September 12 Control of September 20	

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Extended Description:**

Date Printed: Jul 22, 2025

20.0 Pendleton County - Limestone Sand

Page: 11 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO	SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST V	IRGINIA	
OFFICE OF AML&R	×	VARIOUS LOCATIO INDICATED BY ORI		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US	r.	US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
21	21.0 Pocahontas County - Limestone Sand	25.00000	TON	\$84.00	\$2100.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

21.0 Pocahontas County - Limestone Sand

INVOICE TO		SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VIRGINIA	
OFFICE OF AML&R		VARIOUS LOCATIONS AS INDICATED BY ORDER	
601 57TH ST SE			35.
CHARLESTON	WV	No City	WV
US		US	

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
22	22.0 Preston County - Limestone Sand	25.00000	TON	\$85.00	\$2125.00
			•	400.00	

Comm Code	Manufacturer	Specification	Model #	
11111608				

Page: 12

# **Extended Description:**

22.0 Preston County - Limestone Sand

FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO	SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST \	/IRGINIA		
OFFICE OF AML&R	x	VARIOUS LOCATION INDICATED BY OR			
601 57TH ST SE					
CHARLESTON	WV	No City	WV		
US		US			

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	<b>Total Price</b>
23	23.0 Putnam County - Limestone Sand	25.00000	TON	\$89.00	\$2225.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

23.0 Putnam County - Limestone Sand

INVOICE TO		SHIP TO	SHIP TO	
ENVIRONMENTAL PROTECTION		STATE OF WEST VIR	GINIA	
OFFICE OF AML&R		VARIOUS LOCATIONS INDICATED BY ORDE		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
24	24.0 Raleigh County - Limestone Sand	25.00000	TON	\$80.00	\$2000.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Extended Description:**

24.0 Raleigh County - Limestone Sand

Date Printed: Jul 22, 2025 Page: 13 FORM ID: WV-PRC-CRFQ-002 2020/05

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST V	IRGINIA	
OFFICE OF AML&R	z	VARIOUS LOCATION INDICATED BY OR		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	<b>Total Price</b>
25	25.0 Webster County - Limestone Sand	25.00000	TON	\$54.00	\$1350.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

25.0 Webster County - Limestone Sand

INVOICE TO		SHIP TO		
ENVIRONMENTAL PROTECTION		STATE OF WEST VIR	RGINIA	
OFFICE OF AML&R		VARIOUS LOCATION INDICATED BY ORDE		
601 57TH ST SE				
CHARLESTON	WV	No City	WV	
US		US		

Line Com	mm Ln Desc	Qty	Unit Issue	Unit Price	Total Price
26 26.0	0 Wyoming County - Limestone Sand	25.00000	TON	\$80.00	\$2000.00

Comm Code	Manufacturer	Specification	Model #	
11111608				

# **Extended Description:**

26.0 Wyoming County - Limestone Sand

# SCHEDULE OF EVENTS

<u>Line</u> <u>Event Date</u>

Date Printed: Jul 22, 2025 Page: 14 FORM ID: WV-PRC-CRFQ-002 2020/05

	Document Phase	Document Description	Page 15
DEP2600000001	Final	AML - Limestone Sand	

# ADDITIONAL TERMS AND CONDITIONS

See attached document(s) for additional Terms and Conditions

### **SPECIFICATIONS**

1. PURPOSE AND SCOPE: The West Virginia Purchasing Division is soliciting bids on behalf of West Virginia Department of Environmental Protection, Office of Abandoned Mine Lands (WVDEP/AML) to establish an open-end contract for high calcium content Limestone Sand. The counties covered by this contract are Barbour, Boone, Brooke, Clay, Fayette, Gilmer, Hancock, Kanawha, Lewis, Logan, Marshall, Mason, McDowell, Mercer, Mineral, Mingo, Monongalia, Nicholas, Ohio, Pendleton, Pocahontas, Preston, Putnam, Raleigh, Webster, and Wyoming.

This was previously advertised as CRFQ DEP2200000024 opened on 01/07/2022. Bid results may be viewed at:

www.state.wv.us/admin/purchase/Bids/FY2022/BO20220113.html

- **2. DEFINITIONS:** The terms listed below shall have the meanings assigned to them below. Additional definitions can be found in section 2 of the General Terms and Conditions.
  - **2.1 "Contract Item"** or "Contract Items" means the list of items identified in Section 3.1 below and on the Pricing Pages.
  - **2.2 "Mesh Screen"** means a barrier made of connected strands of metal, fiber or other flexible/ductile materials used in and for filtration by particle size.
  - **2.3 "Pricing Pages"** means the schedule of prices, estimated order quantity, and totals contained in wvOASIS and used to evaluate the Solicitation responses.
  - **2.4 "Solicitation"** means the official notice of an opportunity to supply the State with goods or services that is published by the Purchasing Division.

# 3. GENERAL REQUIREMENTS:

- 3.1 Contract Items and Mandatory Requirements: Vendor shall provide Agency with the Contract Items listed below on an open-end and continuing basis. Contract Items must meet or exceed the mandatory requirements as shown below.
  - 3.1.1 High Calcium Content Limestone Sand, delivered.
    - 3.1.1.1 The Limestone Sand must have a Calcium Carbonate Content (not Calcium Carbonate Equivalent) greater than or equal to 90%. The vendor shall provide a copy of

laboratory analysis of the limestone sand to WVDEP/AML upon request.

- **3.1.1.2** The Limestone Sand must have a particle distribution detailed below.
  - 3.1.1.2.1 100% passing a No. 4 Mesh Screen,
  - 3.1.1.2.2 60% minimum passing a No. 10 Mesh Screen,
  - 3.1.1.2.3 25% minimum passing a No. 20 Mesh Screen,
  - **3.1.1.2.4** 30% maximum passing a No. 170 Mesh Screen.
- 3.1.2 The Acquisition and Utilization of all reasonable and necessary equipment, licenses, permits, specialized equipment, etc. will be the exclusive responsibility of the Vendor.
- **3.1.3** The Vendor shall deliver limestone sand in twenty to twenty-five ton truckloads. The quantity delivered shall be directed by the WVDEP AML representative.
- 3.1.4 The WVDEP/AML shall not be responsible for any terms of any subcontractor the primary Vendor may enter into to perform the duties of this contract.

### 4. CONTRACT AWARD:

- **4.1 Contract Award:** The Contract is intended to provide Agencies with a purchase price on all Contract Items. The Contract shall be awarded to the Vendor that provides the Contract Items meeting the required specifications for the lowest overall total cost as shown on the Pricing Pages.
- **4.2 Pricing Pages:** Vendor should complete the Pricing Pages by providing a price for every county listed above. The award of this solicitation may be split if it is in the best interest of the WVDEP/AML. If the Contract is awarded to the lowest bidder per County, on a price per ton delivered basis, vendors winning multiple Counties will have those Counties combined into a single contract. Vendor should complete the Pricing Pages in their entirety as failure to do so may result in Vendor's bids being disqualified.

The Pricing Pages contain a list of the Contract Items and estimated purchase volume. The estimated purchase volume for each item represents the approximate volume of anticipated purchases only. No future use of the Contract or any individual item is guaranteed or implied.

Vendor should electronically enter the information into the Pricing Pages through wvOASIS, if available, or as an electronic document.

## 5. ORDERING AND PAYMENT:

- 5.1 Ordering: Vendor shall accept orders through wvOASIS, regular mail, facsimile, email, phone, or any other written form of communication. Vendor may, but is not required to, accept on-line orders through a secure internet ordering portal/website. If Vendor has the ability to accept on-line orders, it should include in its response a brief description of how Agencies may utilize the on-line ordering system. Vendor shall ensure that its on-line ordering system is properly secured prior to processing Agency orders on-line.
- **5.2 Invoicing:** Vendor shall send invoices to <u>depdlrprocurement@wv.gov</u> upon completion of work.
- **5.3 Payment:** Vendor shall accept payment in accordance with the payment procedures of the State of West Virginia.
  - 5.3.1 Vendor shall be paid based on the unit price per line item (with units as listed). These prices must include all labor costs, mileage and travel costs, recycling costs and any other fees necessary to perform under this contract. No additional costs shall be paid.

### 6. DELIVERY AND RETURN:

- 6.1 Delivery Time: Vendor shall deliver standard orders within 72 hours of the order placed by a WVDEP/AML representative. The Vendor shall coordinate delivery with WVDEP/AML personnel, which shall be made Monday-Friday, 8am to 5pm EST. Saturday deliveries are only permitted with prior approval by WVDEP AML representative. Vendor shall deliver emergency orders within 2 (two) working day(s) after orders are received. Vendor shall ship all orders in accordance with the above schedule and shall not hold orders until a minimum delivery quantity is met.
- 6.2 WVDEP/AML personnel shall coordinate the location, date, and time with the Vendor for all deliveries.
- **6.3 Late Delivery:** The Agency placing the order under this Contract must be notified in writing if orders will be delayed for any reason. Any delay in delivery that could cause harm to an Agency will be grounds for cancellation of the delayed order, and/or obtaining the items ordered from a third party.

Any Agency seeking to obtain items from a third party under this provision must first obtain approval of the Purchasing Division.

- **6.4 Delivery Payment/Risk of Loss:** Standard order delivery shall be F.O.B. destination to the Agency's location. Vendor shall include the cost of standard order delivery charges in its bid pricing/discount and is not permitted to charge the Agency separately for such delivery.
- 6.5 Return of Unacceptable Items: If the Agency deems the Contract Items to be unacceptable, the Contract Items shall be returned to Vendor at Vendor's expense and with no restocking charge. Vendor shall either make arrangements for the return within five (5) days of being notified that items are unacceptable or permit the Agency to arrange for the return and reimburse Agency for delivery expenses. If the original packaging cannot be utilized for the return, Vendor will supply the Agency with appropriate return packaging upon request. All returns of unacceptable items shall be F.O.B. the Agency's location. The returned product shall either be replaced, or the Agency shall receive a full credit or refund for the purchase price, at the Agency's discretion.
- 6.6 Return Due to Agency Error: Items ordered in error by the Agency will be returned for credit within 30 days of receipt, F.O.B. Vendor's location. Vendor shall not charge a restocking fee if returned products are in a resalable condition. Items shall be deemed to be in a resalable condition if they are unused and in the original packaging. Any restocking fee for items not in a resalable condition shall be the lower of the Vendor's customary restocking fee or 5% of the total invoiced value of the returned items.

# 7. VENDOR DEFAULT:

- 7.1 The following shall be considered a vendor default under this Contract.
  - **7.1.1** Failure to provide Contract Items in accordance with the requirements contained herein.
  - **7.1.2** Failure to comply with other specifications and requirements contained herein.
  - **7.1.3** Failure to comply with any laws, rules, and ordinances applicable to the Contract Services provided under this Contract.
  - **7.1.4** Failure to remedy deficient performance upon request.

- 7.2 The following remedies shall be available to Agency upon default.
  - **7.2.1** Immediate cancellation of the Contract.
  - **7.2.2** Immediate cancellation of one or more release orders issued under this Contract.
  - **7.2.3** Any other remedies available in law or equity.

### 8. MISCELLANEOUS:

- **8.1 No Substitutions:** Vendor shall supply only Contract Items submitted in response to the Solicitation unless a contract modification is approved in accordance with the provisions contained in this Contract.
- **8.2 Vendor Supply:** Vendor must carry sufficient inventory of the Contract Items being offered to fulfill its obligations under this Contract. By signing its bid, Vendor certifies that it can supply the Contract Items contained in its bid response.
- **8.3 Reports:** Upon request from WVDEP/AML, the Vendor shall provide quarterly reports and annual summaries to the Agency showing the Agency's items purchased, quantities of items purchased, and total dollar value of the items purchased. Vendor shall also provide reports, upon request, showing the items purchased during the term of this Contract, the quantity purchased for each of those items, and the total value of purchases for each of those items. Failure to supply such reports may be grounds for cancellation of this Contract.
- **8.4 Contract Manager:** During its performance of this Contract, Vendor must designate and maintain a primary contract manager responsible for overseeing Vendor's responsibilities under this Contract. The Contract manager must be available during normal business hours to address any customer service or other issues related to this Contract. Vendor should list its Contract manager and his or her contact information below.

Contract Manager:	Steve Shriver
Telephone Number:	3045464385
Fax Number:	
Email Address: 5hr	ivestrucking @ Msn. con

# ADDENDUM ACKNOWLEDGEMENT FORM SOLICITATION NO.:

Instructions: Please acknowledge receipt of all addenda issued with this solicitation by completing this addendum acknowledgment form. Check the box next to each addendum received and sign below. Failure to acknowledge addenda may result in bid disqualification.

Acknowledgment: I hereby acknowledge receipt of the following addenda and have made the necessary revisions to my proposal, plans and/or specification, etc.

Addendum Numbers Received:	
(Check the box next to each addendum received)	
Addendum No. 2 Addendum No. 3 Addendum No. 4 Addend	um No. 6 um No. 7 um No. 8 um No. 9 um No. 10
I understand that failure to confirm the receipt of addendated and the second that any verbal representation made a discussion held between Vendor's representatives and an the information issued in writing and added to the specific binding.	or assumed to be made during any oral y state personnel is not binding. Only
Shriver Trucking Co Inc Company	9
ton all	_
Authorized Signature	
07/28/2025	
Date	

NOTE: This addendum acknowledgement should be submitted with the bid to expedite document processing.

DESIGNATED CONTACT: Vendor appoints the individual identified in this Section as the Contract Administrator and the initial point of contact for matters relating to this Contract.

(Printed Name and Title) Steve Shriver Owner

(Address) PO Box, 1171 WSton, WV 21452

(Phone Number) / (Fax Number) 304-219-1750 DY 304-546-4385

(email address) Shriver Com

CERTIFICATION AND SIGNATURE: By signing below, or submitting documentation through wvOASIS, I certify that: I have reviewed this Solicitation/Contract in its entirety; that I understand the requirements, terms and conditions, and other information contained herein; that this bid, offer or proposal constitutes an offer to the State that cannot be unilaterally withdrawn; that the product or service proposed meets the mandatory requirements contained in the Solicitation/Contract for that product or service, unless otherwise stated herein; that the Vendor accepts the terms and conditions contained in the Solicitation, unless otherwise stated herein; that I am submitting this bid, offer or proposal for review and consideration; that this bid or offer was made without prior understanding, agreement, or connection with any entity submitting a bid or offer for the same material, supplies, equipment or services; that this bid or offer is in all respects fair and without collusion or fraud; that this Contract is accepted or entered into without any prior understanding, agreement, or connection to any other entity that could be considered a violation of law; that I am authorized by the Vendor to execute and submit this bid, offer, or proposal, or any documents related thereto on Vendor's behalf; that I am authorized to bind the vendor in a contractual relationship; and that to the best of my knowledge, the vendor has properly registered with any State agency that may require registration.

By signing below, I further certify that I understand this Contract is subject to the provisions of West Virginia Code § 5A-3-62, which automatically voids certain contract clauses that violate State law; and that pursuant to W. Va. Code 5A-3-63, the entity entering into this contract is prohibited from engaging in a boycott against Israel.

Shriver Trucking Co Inc
(Company)
(Signature of Authorized Representative) Stephen E Shriver II   Owner 8   25
(Printed Name and Title of Authorized Representative) (Date)
(Phone Number) (Fax Number) Shrivertrucking @msn.com
(Email Address)